Ve [o] -~ g — .
F250 KPBARVOR—ILTZAKE 2023/1/74ERk
2= bk 2 )LiIN— aJ—J)Lk AANVEUR
1 2 5 6 7 9 10 11 12 13 14
1 - 2|13 - 4 9:40 1 - 2|3 - 418 - 9|11 - 13 = = 8 - 9110 - 11} 1 - 25 - 6
B - ~10:25 - B - B B - B B B -

E2T] 5 |mu 5 =4 5 |=n 7 & 10 | &% 12 =4 12 | =0 #4va | =0 3 | B 7
1 - 5|12 - 3 10:30 1 - 3|5 - 6|8 - 10|12 - 13 = = 8 - 10112 - 13} 3 - 4|7 - 8
- a ~11:15 - - - - a a a a - a
=4 4 | &9 4 =4 2 |z 4 | &2 9 | = 11 =4 9 | &= 11 | =0 1| =n 5
2 - 5|1 - 4 11:20 2 - 415 - 719 - 10111 - 12 = = 9 - 11|12 - 1412 - 3|16 - 7
B B ~12:05 B B B B B B B B B B
=4 3 = 3 =4 NS 3 = 6 | mn 8 =4 8 | =u 10 | &0 4 | B 8

12:05~12:40 BRBIAER
1 _— 314 _— 5 1940 1 _— 412 _— 316 _— 7 _— _— 8 _— 11] 9 _— 10] 1 _— 41 5 _— 8
~13:25
=¥ 2 | &N 2 El) 13 | &# 5 |#H 8 g DILS—10| Ty DR—11| B DR—12| E=H 5 | & 2 | B 6
2 - 413 - 5 1340 A3 - B3|A2 - B2|A1 - B1|{D3 - A4 A2 - B2 = C4 - A3|D3 - A4]1 - 3|5 - 7
B - ~14:25 - B - B B - B B B -
2T INE:] 1 =4 C3 |z C2|=x Cl | =n D2 2] C3 | =x B3 | = 2 | mn 6
1 - 213 - 4 14:30 C3 - »ayC2 - D2|C1 - Di C2 - D2 — DIfAl — B3[{C3 —»ad 2 - 416 - 8
B - ~15:15 - B - B - B B B -
£ 5 & 5 =4 B3 = A2 | =4 Al =4 A2 | = B2 | &% 1| &0 5
1 - 5]l2 - 3 1520 SRIGIHIRTE | 2L GIRLRTE | 161G R E 26 G R TE | 1 GIRLRTE | 3RIGILIIRE - ARIGHRES | SHIGHRME
- - ~16:05 - - - B - B B B -

4 4 | B0 4 4 RIFE |30 AIE (30 AR #4 PSS | B0 AT |30 RIS | 3a w 2dcRmE| = e
2 - 5|11 - 4 16:10 2T GiREE | 1GIGHRES | 3LIGIRAE 2GR EE | 1GIGIRRE | SGIGIRAS = 2IGREE | 1HIGRES
B B ~16:55 a B - - B - . 3 B
=27 3 |&n 3 EF¥ JREE|Bu JREE | Bn IRAE 4 AIEE |2u FAAE |30 AT | 34 B4 AIEE | B0 AIBE

1 - 3|14 - 5
=4 2 | 2 120—rId—LRE1RESEF AV EVRABF—LAEH, 9-10-113—,T—LRFENODEAHE I ILN—10-1112BF—LHEHTYT
2 - 4|3 - 5 15.163—MLBBEARENIEETIIAOLES=0RMLET ., 30— EEAMLET
- - T)—IEREZE 75 —LIVF 45HIIL—ILEBEALET 14:30~16:55DFE R B — Ly F T EALAEL
2l 1 [#n 1 FHD1HAEGEL2H A B OMBEIRGREICHMZEZEST LMD 109 RDICWEEEET

XEMHARKIZE KEMF. A —F—RXIAT7—rEXKE(18AFTHE) ICEENLET




